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Important Instructions

1. The worksheets of all the subjects should be done in respective subject
notebooks.

2. All the worksheets will be discussed in the classroom, post winter break.

3. Encourage your ward to do the worksheets on his/ her own. If required,
please give parental assistance.

MATHS
1. If the area of a square is 36 sg. cm, then find its perimeter?

2. If the perimeter of a square is 64 cm, then find its area?

3. The perimeter of a rectangle and square are equal. if length of the rectangle is 8 cm and breadth is 6m.
Find the area of a square?

4. The floor of a room is square in shape. If the side of the floor is 5m. Find the area of the floor?

5. What will happen to the area of a square if its sides are doubled?

6. What is the cost of tiling a rectangular plot of length 600m long and 300m wide at the rate of Rs 7 per
hundred sg. m?

7. A table top measures 2m by 2m 50cm. What is its area in square meters?

8. Find the area of a right angled triangle whose two legs are 5cm and 6¢cm respectively and hypotenuse is
square root of 41cm?

9. Find the area of a triangle which base is 4 cm and altitude is 3.5 cm?

10. Find the side of an equilateral triangle if its perimeter is 30 cm?

1. Write all integers between

a) 0 and 6, b) -3and 3

2. Using the number line , write the integer which is 6 less than 2?

3. Write 5 negative integers more than -7.

4. Add (-2056) + 679

5. Find the sum of -8, 23, -32, -17 and -63.

6. Write the successor of each of the following :

a) -57, b) 70




7. Find the additive inverse of -1001 and O.

8. Write the predecessor of each of the following :

a) -300, b) -8, c) 120

9. A car travelled 60 km to the north of Patna and then 90 km to the south from there. How far from Patna
was the car finally?

10. The sum of two integers is -13. If one of the numbers is 170, find the other.

11. Subtract: -3012 from 6250

12. Multiply -238 by -143

13. Find the product: (-3) x (-7) x (-6).
14. Simplify: (-36) x (72) + (-36) x 28
15. Divide 85 by -17

16. Fill in the Blank: (.......c.ccocv...... )+ (-1) =73

ENGLISH
Read the passage carefully and then answer the questions.

Once there was a miser who sold all his possessions and, with the money, bought a great lump of gold,
dug a deep hole at the edge of the garden, and there he buried his gold. Once a day, thereafter, the miser
went to the garden, dug up his gold, and embraced it lovingly. One of the miser’s workmen wondered
why his master spent so much time in the garden. One day, he hid behind a tree and soon discovered the
secret of the hidden treasure. That night, when the miser was fast asleep, the workman crept into the
garden and stole the lump of gold. When the miser found that his gold was gone, he tore his hair and cried
aloud in his despair. A neighbour came running to see what the matter was, and the grief-stricken miser
told him what had happened. Then the neighbours said, “Pray to stop your weeping. Go and find a stone.
Place the stone in the hole and imagine that it is your lump of gold. The stone will serve your purpose, for
you never meant to use the gold anyway.” “To a miser, what he has is of no more use than what he has
not.”

1. How did the miser get the lump of gold?

a. By selling all he had b. While digging the garden?
. From his ancestors d. From his neighbour
. Why did miser spend so much time in the garden?

. He was a nature lover.

. He liked watching children playing in the garden.

. To keep an eye on his hidden treasure.

. To change the place of his lump of gold.

. By whom was the gold stolen?

. A thief b. His neighbour

. The miser’s workman d. The miser himself

4. The neighbour advised the miser to put a stone in the hole because




a. Gold is like a stone only.

b. The miser would never use the gold, hence no difference between the two.
c. The stone will become gold after some time.

d. For a wise man, gold and stone have equal worth.

5. Choose the most appropriate title for this story.

a. Gold and Stone

b. The Miser and His Gold

c. The Miser and His Neighbour

d. The Miser and His workman

2. Read the poem and answer the question-
Which | can never enjoy?
What is the blessing of the sight?
O tells your poor blind boy!
You talk of wondrous things you see,
You say the sun shines bright;
| feel him warm, but how can he
Then make it day or night?
My day or night myself | make
Whenever | sleep or play;
And could | ever keep awake
With me it were always day
With heavy sighs | often hear
You mourn my hapless woe;
But sure with patience | may bear
A loss | never can know
Then let not what | cannot have
My cheer of mind destroy;
whilst things I sing, | am a king
Although a poor blind boy.

1) What can the blind boy never enjoy?
2) What can the blind boy feel but cannot see it?
3) Explain the meaning of the line “My day or night myself I make”.
4) What message does the poet convey in the last stanza?
5) Give a pair of rhyming words:
3. Underline the adverbs and tell their kind:
(1) He will never realize his mistake.
(2) Mr. Talukder has arrived here.
(3) The teacher talks freely to his students.
(4) 1 take my meal thrice a day.
(5) The terrorists have taken shelter inside the building.
(6)He left the room hastily.
(7) God is present everywhere.
(8) Mr. Das started this business two years ago.
(9) The nurse injected the baby carefully.
(20) 1 will inform you shortly.

4. Write a paragraph on the topic ‘The greatest wish of my life’ in 200 words.




SANSKRIT

Uy 1- AT Tder Uil Ued-UyHN SWIdT forga) -2 Ry e
ITRE P Tgaw Y T Ul ¥ I ff¥e-
fUramdt IA-$8 T G 3R VR TUY 9 I[EE HR]AW] U 91 ggare
Shusfal 1 W= HRAAI A 9y A1 ¢a™ GO HRId | 91 Yidd-T= mafa) |
gdq afal a1 sefa-gata 9w g JuRm™ sfted garfa, o @ gea: aif|
1. UPHYSH SWRdl) TH Ug H IuX diferal
I RERIEHEERIEN
&) 91 Hal Ifsid?
M A HH AAfd?
H) &: GORM Sitad galfd?

2. Qofared IwRdl) YUl ar ® IR i)

%) Odmg! ®al goy wifd?
T) g fomd o= sifedr |
3. 9 Yy fom &2 .
%) gfcadm
@) TGHDHIHT
4, THY g BT o e I B2
&) dq
=) T

uazﬁqﬁr@aﬁaamﬁf@m
UaaTHq
HW(H%FH

aaw(wﬂﬁ—rg)

a:n:[

Teq
Taq (4o : )
ﬁ’_‘z[ (mﬁ’:)

(T _YUTq &€ dPIR:)
UYyd gy
ALY :
ITHYSY :

(Hlg Ul & dPRR:)
UYyd goy:
AU :
ITHYSY :

(B[ YT 9 TPR:)
UYyd goy:




HEOHYY
SAHYSY :

3 fafafea arRl &1 9¥pd § srag difeg)

o
0

L e N Uk WM R

Y 4-JdAH-UG Y& P a1 &I g fafau

. Tdq & |
. U9 &%y
. Tdq dIfd |
. UY: 91|
. T US|

HINDI

ToT-1. FTAGHHT T (FTEAGEEFT - 9, 10, 15, 16)
757 -2. faereor it g ud yew o |
T -3.9TS [arg =t 9TTel o for srareprer wiie o forw fEerera o Serm=m=me 1 areier o=
ferfer |
T=T -4. 370 T 1 Semfes a7 fAeror o forfe |
757 -5. 7 fao= 97 Hare fertau-
. T ST TR o 19 qaTa
G, |7 AT 9 & o= araqiem
T, gt i AT 9T &7 AT F A "qae |

SOCIAL SCIENCE

» Complete worksheet page no: 66, 67,68, 69, 70, 73 in social science workbook.




